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€)) We have three ( /" successful ) holidays in May.

2) It was ( sensitive /sensible> ) of him to reject her offer.

3) He has earned ( nota few / ) money.

4) Hurry up! We have ( afew /Calittle ) time.

®)] There were ( hundred / ) of people in the theater.

(6) I have tried every means ( /  imaginary ).

7 There are ( surprised / ) facts.

2 - ROFEXAFEFRLEKIZAEDESIZ () RIEZBEANG S, [6 AX5)

(1) That girl is a student from Switzerland.
That girl is a ( Swiss ) student.

2) I hope you will succeed in business.
I hope you will be ( successful ) in business.
3) He could not answer the question.
He found it ( impossible ) ( to ) answer the question.
4) He was not aware that he had done wrong.
He was not aware ( of ) ( having ) ( done ) wrong.
%) There is a wide difference between these two cases.

These two cases are widely ( different ) ( from ) each other.
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(1) SHRRAREY £ 57,
Itis ( likely ) ( to ) rain this evening.

) WIEREIE > ERNT D ERBNET,

I( am ) ( sure ) he will succeed next time.

(3) WENIIEETHYICLE
They caught a bear ( alive ).

4) COIUOVIFECHHELTWNET,
There is something ( wrong ) with this engine.
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